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Bl (F) (7 %) How do you go to school every day?
(~ #) Usually on foot. Sometimes by bus.
Question: How does the woman go to school ?
) A. She dways walks to school.
B. Sheusually takes abus.
C. She either walks or takes abus.
D. Sheusually goes on foot, never by bus.
(zFEg * Q)

(

‘."_'!l"\
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&) : (%) Jackie often eats a big breakfast, but yesterday he got up late, so he didn't
have time to eat his usual breakfast of eggs, bacon, and toast. He just had
time for a quick cup of coffee. He felt hungry all morning and didn't do
hiswork well.

Question: What did Jackie do yesterday?
) A. Hearrived late for work
B. Heonly had coffee for breakfast.
C. Heworked very well yesterday.
D. He ate eggs, bacon and toast for breakfast.
(L #/% > - B)

(
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z * Who your English teacher?
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] © Susan had a terrible day today. First, she was woken up by a strange phone call
(1 four o’clock this morning. When she was about to pick up the receiver, the
phone stopped ringing. (2) , shegot up late, so she was thirty minutes__ (3)
for work. When she got home this afternoon, she (4) open the door because
she had |eft her keys at her office.

1 A.to 2. A. Then
B. a B. Maybe
C. on C. However
D. in D. Especialy
(L #/E% % B) (EFE% % - A)

e
Ji
4
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: Learn to Sail

Courses begin on the 3™ Tuesday of each month.
Master the art of handling a sallboa‘rl Space is limited.
Call for details. &

Riy B
=3

\;L‘\Q

331 Anclote Rd.
Line (5)] West Bay

2934-5503
SEASIDE =
YACHTS
1. What is the advertisement about? 2. What does the word "space” in line 2 refer
A. Renting boats to in this advertisement?

B. Job openings
C. Sailing lessons
D. Selling a sailboat

(zr2% * : C)

The distance between sailboats
The number of students allowed
The amount of time for each class
The number of boats at the school

(& 4% & : B)

oOw>

14



* B EFEN G RIRPEKR (R )

- ~F ORI L3080 92544 Fé%\d G 3D > FRRHN - L o B 288 0 A

%\‘P"P‘Zlﬁ;%lf@%é » 3E — ]@;ﬁ,\i —ﬁ]t"é‘o

%115%@’4{p - BHE ORBRFF R oI E- BEGEDFEFAT o
B s (3)
(+ %) Next, please? ... Oh, were you next in line?
(9 %)  VYes I'll havetoday's special.
(* %)  With soup or salad?
(9 %) Uh, soup, please.
(+ %) Here you are. And you can get your own coffee or tea down there where you pay.

Question: Where are the speakers?
(%)

A. At abank.

B. Atacafeteria

C. Onanairplane.
D. At asupermarket.
(rrE% % - B)

$16-3041 0 FAF - FEY CBFFT RO o RI2F- BhiFLhv E o

B ()
Good afternoon, and welcome to "Good Health for Life." On today's program,
Dr. Ronald Sterling will be telling us about a new study on the effects of
Vitamin C. | imagine many of our listeners already take large amounts of
Vitamin C as a means of protection against colds. Well, in the study we'll be
hearing that, 500 milligrams a day of Vitamin C helped people to reduce their
blood pressure. Dr. Sterling? ...

Question: What is the speaker doing?
(7)

A. Seeing her doctor.

B. Teaching acourse.

C. Hosting atak show.

D. Introducing her research.
(zr% * :C)
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] © The bottle that the poison was clearly marked with ared X.
A. painted
B. contained
C. swallowed
D. discovered
(rFE% % - B)

$AL504 LB S M o SR KBS 0 BB L FA6B LR 0 7 WABKHEAL o £ 4T
‘ZL/ oy pe ik g 2 %%

»| ¢ Paris, the capital of France, was named for aroyal prince from Greek mythology.
The prince was famous __ (1) his love of beauty, as wdl as his ability to judge
it. Unfortunately, Paris was a little foolish. (2) he understood beauty, he
didn't understand the importance of anything ese. When (3) to choose
between anew leadership, avictory a war, and the most beautiful woman on Earth,
he __ (4) the woman. As aresult, the Trojan War began.

1. A as 2. A. Though
B. of B. Maybe
C. for C. Even
D. that D. But
(zFEg = C) (EFEgE % A)

Z s Biplmk 0 £308L 0 *IBEA LT E o kIT P 7
oA Fr BRELE R EN -

4 Vision Workout

Are you tired of buying stronger glasses as your eyes get worse and
worse? Turn the process around with the easy vision training exercises
featured in Vision Workout. This two-video set contains six 30-minute
exercises which can help reverse nearsightedness, farsightedness,
Line (5) double vision, and other common vision problems. Also included are an
eye chart and specia equipment.

' FBEAEY {55 2.5 4p MR

B c
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1. What is being advertised? 2. The phrase “double vision” in line 5

A. Membership at ahealth club refersto

B. Eye exercises on videotape A. aturn-around process.
C. A home exercise machine B. atraining program.

D. Light-weight glasses C. thetwo-video set.
(t/mE%:B) D. an eye problem.

(/%% :D)
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